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4. The old combine can harvest the crop in 100 hours. but a new one can do it 1n 92 hours.
How many hours will it take the two of them operating at the same time to harvest the crop?
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5. How much 60% antifreeze solutions should be added to 4 quarts of 15% antifreeze solution
to vield a 50% antifreeze solution? (A °‘ %
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22-2%
A lady wants to make an open-top box for i“ 2in. —3]
packing baked goods by cutting equal squares o 5
from each corner of an 13 in. by 22 piece 7 SR S $
of cardboard as shown in the diagram. She
figures that for versatility the area of the 13-2%

bottom must be 90 in. 2. What size of square
should she cut from each corner?

Naote that an open-top box 15 constructed by
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cutting out equal squares of sides x at each
corner, then folding up the sides from the
rectangular piece of cardboard with the given

dimensions. 1\
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